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2-2) Tetrahedral faces are triangular. A cube face needs at least 2 tetrahedral faces, so at least 12 tetrahedral 
faces are needed in all. At most 3 faces of a tetrahedron are mutually orthogonal (no 2 faces can be parallel), so at 
most 3 faces from each tetrahedron can contribute towards these 12. We need ;=:: 4 tetrahedrons to provide the 
cube's faces. The volume of each tetrahedron is I /6 that of the cube (I /3 X face area X I, and face area is I /2 a face 
of the cube). Together, 4 such tetrahedra are less than the volume of I cube, so we need ;=:: 5 tetrahedra. Here's 
how to get 5 such tetrahedral whose union is the cube: lop of tetrahedron from 4 non-adjacent corners of the 
cube, and you will leave I tetrahedron. More precisely, take the cube as A8CD-A'8'CD', with A8CD horizontal and 
A' directly under A, 8' directly under 8, and so on. The 5 tetrahedra are AA'8D, CC8D, DD'A'C, 88'A'C, and 8DA'C. 
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